
 

CS 405-001 

Assignment 2 

 

Problem 1 

6.16 

a. 𝑇𝐸𝑀𝑃 =  𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝑆𝑠𝑛=𝐸𝑠𝑠𝑛 𝑊𝑂𝑅𝐾𝑆_𝑂𝑁 ⋈𝑃𝑛𝑜 =𝑃𝑛𝑢𝑚𝑏𝑒𝑟 𝑃𝑅𝑂𝐽𝐸𝐶𝑇 

 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒  𝜍𝑃𝑛𝑎𝑚𝑒 =′𝑃𝑟𝑜𝑑𝑢𝑐𝑡𝑋 ′  & 𝐻𝑜𝑢𝑟𝑠 >′10′  & 𝐷𝑛𝑜=′5′𝑇𝐸𝑀𝑃  

Fname Minit Lname 

John B Smith 

Joyce A English 

 

 b. 𝑇𝐸𝑀𝑃 = 𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝑆𝑠𝑛=𝐸𝑠𝑠𝑛  & 𝐹𝑛𝑎𝑚𝑒 =𝐷𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡 _𝑛𝑎𝑚𝑒 𝐷𝐸𝑃𝐸𝑁𝐷𝐸𝑁𝑇 

 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒 𝑇𝐸𝑀𝑃 

Fname Minit Lname 

No Rows 

c. 𝑀𝑆𝑆𝑁 = 𝜋𝑆𝑠𝑛 𝜍𝐹𝑛𝑎𝑚𝑒 =′𝐹𝑟𝑎𝑛𝑘𝑙𝑖𝑛 ′  & 𝐿𝑛𝑎𝑚𝑒 >′𝑊𝑜𝑛𝑔 ′𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸  

  𝑇𝐸𝑀𝑃 = 𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝑆𝑢𝑝𝑒𝑟 _𝑠𝑠𝑛=𝑀𝑆𝑆𝑁.𝑆𝑠𝑛 𝑀𝑆𝑆𝑁 

  𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒 𝑇𝐸𝑀𝑃 

Fname Minit Lname 

John B Smith 

Ramesh K Narayan 

Joyce A English 

 

d. 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝑃𝑛𝑎𝑚𝑒 𝔉 𝑆𝑈𝑀 𝐻𝑜𝑢𝑟𝑠 𝑊𝑂𝑅𝐾𝑆_𝑂𝑁 ⋈𝑃𝑛𝑜 =𝑃𝑛𝑢𝑚𝑏𝑒𝑟 𝑃𝑅𝑂𝐽𝐸𝐶𝑇  
Pname Sum_hours 

ProductX 52.5 

ProductY 37.5 

ProductZ 50.0 

Computerization 55.0 

Reorganization 25.0 

Newbenefits 55.0 

 

 e. 𝐴𝑀𝑂𝑈𝑁𝑇 = 𝔉 𝐶𝑂𝑈𝑁𝑇 𝑃𝑛𝑢𝑚𝑏𝑒𝑟  𝑃𝑅𝑂𝐽𝐸𝐶𝑇  

𝑇𝐸𝑀𝑃 = 𝜍𝐶𝑜𝑢𝑛𝑡 _𝑝𝑛𝑜 =𝐴𝑀𝑂𝑈𝑁𝑇 .𝐶𝑜𝑢𝑛𝑡 _𝑃𝑛𝑢𝑚𝑏𝑒𝑟  𝐸𝑠𝑠𝑛 𝔉 𝐶𝑂𝑈𝑁𝑇 𝑃𝑛𝑜  𝑊𝑂𝑅𝐾𝑆_𝑂𝑁   

 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒  𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝑆𝑠𝑛=𝐸𝑠𝑠𝑛 𝑇𝐸𝑀𝑃  

Fname Minit Lname 

No Rows 

 

f. 𝑁𝑂𝑁𝑊𝑂𝑅𝐾𝐸𝑅𝑆 = 𝜋𝑆𝑠𝑛  𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 − 𝜌𝑇𝐸𝑀𝑃 𝑆𝑠𝑛  𝜋𝐸𝑠𝑠𝑛  𝑊𝑂𝑅𝐾𝑆_𝑂𝑁   

  𝑇𝐸𝑀𝑃 = 𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 .𝑆𝑠𝑛=𝑁𝑂𝑁𝑊𝑂𝑅𝐾𝐸𝑅𝑆 .𝑆𝑠𝑛 𝑁𝑂𝑁𝑊𝑂𝑅𝐾𝐸𝑅𝑆 

  𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒 𝑇𝐸𝑀𝑃 

 

Fname Minit Lname 



No Rows 

 

g. 𝑆𝐴𝐿𝐴𝑅𝐼𝐸𝑆 = 𝐷𝑛𝑜 𝔉 𝐴𝑉𝐸𝑅𝐴𝐺𝐸 𝑆𝑎𝑙𝑎𝑟𝑦  𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸  

𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐷𝑛𝑎𝑚𝑒 ,𝐴𝑣𝑒𝑟𝑎𝑔𝑒 _𝑠𝑎𝑙𝑎𝑟𝑦  𝐷𝐸𝑃𝐴𝑅𝑇𝑀𝐸𝑁𝑇 ⋈𝐷𝑛𝑢𝑚𝑏𝑒𝑟 =𝐷𝑛𝑜 𝑆𝐴𝐿𝐴𝑅𝐼𝐸𝑆  

Dname Average_salary 

Research 33250 

Administration 31000 

Headquarters 55000 

 

h. 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝔉 𝐴𝑉𝐸𝑅𝐴𝐺𝐸 𝑆𝑎𝑙𝑎𝑟𝑦  𝜍𝑆𝑒𝑥=′𝐹′𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸  

Average_salary 

31000 

 

i. 𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝑃𝑅𝑂𝐽𝐸𝐶𝑇𝑆 = 𝜋𝑃𝑛𝑢𝑚𝑏𝑒𝑟  𝜍𝑃𝑙𝑜𝑐𝑎𝑡𝑖𝑜𝑛 =′𝐻𝑜𝑢𝑠𝑡𝑜𝑛 ′𝑃𝑅𝑂𝐽𝐸𝐶𝑇  
  𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝐷𝐸𝑃𝑇𝑆 = 𝜋𝐷𝑛𝑢𝑚𝑏𝑒𝑟  𝜍𝐷𝑙𝑜𝑐𝑎𝑡𝑖𝑜𝑛 =′𝐻𝑜𝑢𝑠𝑡𝑜𝑛 ′𝐷𝐸𝑃𝑇_𝐿𝑂𝐶𝐴𝑇𝐼𝑂𝑁𝑆  
 𝑁𝑂𝑁_𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝐷𝐸𝑃𝑇𝑆 =  𝜋𝐷𝑛𝑢𝑚𝑏𝑒𝑟 𝐷𝐸𝑃𝑇_𝐿𝑂𝐶𝐴𝑇𝐼𝑂𝑁𝑆 − 𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝐷𝐸𝑃𝑇𝑆 

 𝐻𝑂𝑈𝑆_𝑃𝑅𝑂𝐽_𝑊𝑂𝑅𝐾𝐸𝑅 = 𝜋𝐸𝑠𝑠𝑛  𝑊𝑂𝑅𝐾𝑆_𝑂𝑁 ⋈𝑃𝑛𝑜 =𝑃𝑛𝑢𝑚𝑏𝑒𝑟 𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝑃𝑅𝑂𝐽𝐸𝐶𝑇𝑆  
  𝑇𝐸𝑀𝑃 = 𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ⋈𝑆𝑠𝑛=𝐸𝑠𝑠𝑛 𝐻𝑂𝑈𝑆_𝑃𝑅𝑂𝐽_𝑊𝑂𝑅𝐾𝐸𝑅 

𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐹𝑛𝑎𝑚𝑒 ,𝑀𝑖𝑛𝑖𝑡 ,𝐿𝑛𝑎𝑚𝑒 ,𝐴𝑑𝑑𝑟𝑒𝑠𝑠  𝑇𝐸𝑀𝑃 ⋈𝐷𝑛𝑜 =𝐷𝑛𝑢𝑚𝑏𝑒𝑟 𝑁𝑂𝑁_𝐻𝑂𝑈𝑆𝑇𝑂𝑁_𝐷𝐸𝑃𝑇𝑆  
Fname Minit Lname Address 

Jennifer S Wallace 291 Berry, Bellaire, TX 

 

 j. 𝑇𝐸𝑀𝑃 = 𝜌𝐴 𝑆𝑠𝑛  𝜋𝑀𝑔𝑟 _𝑠𝑠𝑛𝐷𝐸𝑃𝐴𝑅𝑇𝑀𝐸𝑁𝑇 − 𝜌𝐵 𝑆𝑠𝑛  𝜋𝐸𝑠𝑠𝑛𝐷𝐸𝑃𝐸𝑁𝐷𝐸𝑁𝑇  

  𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝐿𝑛𝑎𝑚𝑒  𝐸𝑀𝑃𝐿𝑂𝑌𝐸𝐸 ∗ 𝑇𝐸𝑀𝑃  

Lname 

Borg 

 

Problem 2 

6.20 

 a. 𝑇𝐸𝑀𝑃 = 𝜍𝐴𝑚𝑜𝑢𝑛𝑡 >′2000′ 𝑇𝑅𝐼𝑃 ∗ 𝐸𝑋𝑃𝐸𝑁𝑆𝐸  

  𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝑆𝑠𝑛 ,𝐹𝑟𝑜𝑚 _𝑐𝑖𝑡𝑦 ,𝑇𝑜_𝑐𝑖𝑡𝑦 ,𝐷𝑒𝑝𝑎𝑟𝑡𝑢𝑟𝑒 _𝑑𝑎𝑡𝑒 ,𝑅𝑒𝑡𝑢𝑟𝑛 _𝑑𝑎𝑡𝑒 ,𝑇𝑟𝑖𝑝 _𝑖𝑑𝑇𝐸𝑀𝑃 

 

 b. 𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝜋𝑆𝑠𝑛 𝜍𝑇𝑜_𝑐𝑖𝑡𝑦 =′𝐻𝑜𝑛𝑜𝑙𝑢𝑙𝑢 ′𝑇𝑅𝐼𝑃  

 

 c. 𝑇𝐸𝑀𝑃 = 𝜍𝑆𝑠𝑛=′234−56−7890′𝑇𝑅𝐼𝑃 

  𝑆𝑂𝐿𝑈𝑇𝐼𝑂𝑁 = 𝔉 𝑆𝑈𝑀 𝐴𝑚𝑜𝑢𝑛𝑡 𝑇𝐸𝑀𝑃 ∗ 𝐸𝑋𝑃𝐸𝑁𝑆𝐸  
 

Problem 3 

6.22 

 a. 

P Q R A B C 

10 a 5 10 b 6 

10 a 5 10 b 5 

25 a 6 25 c 3 

 



 b. 

P Q R A B C 

15 b 8 10 b 6 

15 b 8 10 b 5 

 

 c. 

P Q R A B C 

10 a 5 10 b 6 

10 a 5 10 b 5 

15 b 8 NULL NULL NULL 

25 a 6 25 c 3 

 

 d. 

P Q R A B C 

15 b 8 10 b 6 

NULL NULL NULL 25 c 3 

15 b 8 10 b 5 

 

 e. 

P Q R 

10 a 5 

15 b 8 

25 a 6 

10 b 6 

25 c 3 

10 b 5 

 

 f. 

P Q R A B C 

10 a 5 10 b 5 

 


